X 71"7'0I10 X,X1 M2 .7"'02

- 99121 RI77 ROPR IND D12 %7 2R ON
If it is because of the half ransom, that is not an omission, etc.

Overview

The x2) asked, according to the 7"n that Xo3p Xppr1 X390, why did not the 7wn also
mention another difference between a on and 7y that a 7v 1 pays by his own
admission and a an does not (since 0I1P2 771 1s MWD). The XA answered that he
omitted this difference and also another difference that there is no 7912 *¥r by an.
The X713 continues and says X171 X771 1RD 1912 %1 21Wwn» °X, which would seem to be
a refutation of the previous answer.! Mmoo does not accept this interpretation of the
X3,2 and offers an alternate explanation.

- NI NNV NIN NN NI IND
This statement is not a refutation (of the X01p Xpr1 Ra%5 7"n), but rather it is an

answer for the X117 Xpr1 RA?9 7"n; an answer is necessary -
= 39919 NN 99T 990U NI NN RPTI NI 9INRT INNY YVUPIN NOT

So that you should not ask, on the one who maintains X312 Xpt2 X3»2 (and he
pays mxy 8"y, just like a 7¥10), ‘what else did the 71wn omit, that he omitted sxn
902 —

n19oIn offers the s'kn3 answer:
= NI NIV IND 9919 181 DY 999 RY 2uN)

And the X7 answered, ‘nothing was omitted’ for 921> 3217 is not an omission
because the mwn follows the view of 2"77°7 that there is 7912 °xn by a an —

nooIn supports his interpretation:*
= NI NIV IND DN XY 0IWN N 23D (owr 3,0y 91 509392 /) 7992 99132 NIIN 19)

! The refutation would be that according to ¥2°2377 "3 a an pays 1913 *¥7; therefore the 71wn could not mention it. There

is no other W other than MYy 5"y 0%wn.So the question remains ™ *Xa7 W R, See footnote # 2.

2 We cannot ask on the X017 Xp11 X375 7"n that (perhaps) the 71wn is according to 3771 and there is no MW (see footnote

# 1), for this 7" will answer, the 73wn is according to the 1127 that a on does not pay 7913 *¢11 and there is another 21w;

why should we even assume that the 71wn is according to 2"7°7?! How can we ask a question based on a ‘maybe’?!

3 According to the ROIp XpT11 X379 7"1 there are two omissions, 7105 1%y 5"y and 715 1913 °¥11 (by ON) we can say XN

7»w; however according to the 7" that X11mn X1l X379, there is only one 7w (which is 7913 °¥), the question arises

W ORAT W 7!

4 The flow of the X3 indicates that X7 X" X2 7913 *¥7 01Wwn *X is a continuation of challenging the Xpr1 8379 7"

Xo1p; however since that cannot be the vwd (see footnote # 2), therefore Noo1N offers his explanation and will now

show that we find similar cases elsewhere.

3 »aR maintains that a 71 receives MpPon for the XY of 17 13 AWY? WK 931 also (besides the mpHn for eating a 137
1
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And there is something similar in 9312 nN>o» in 2% '3 P99 regarding this which

the X3 states there, ‘if on account of »r> X that is not an omission’ -
$390 7001 DNNT NINDY (0w &1 97 1) 999NN P93 199

And similarly in %9%7:7 p79; however that question there of X177 871w X7, is more
confusing.

Summary
A ‘maybe’ is good for an answer, but we cannot base a question on a ‘perhaps’.

Thinking it over

The X713 in 2°%177 is based on the testimony of X1°1r1 92 XnX 27 that we blow 19w by
each 1o 127p. Later in X,71 the X3 there refutes 1""ax". Now it is possible to explain
the X713 in 22917 like we explained the other two man3; we are defending the position
which argues on 11"2x7, how will they explain the 71w of 5"¥ (since there is no MW
from nawa N Hnw 7"); the answer is that 5"y is not a 7w for we follow the view
of *"1. Why is it more o132 there® than the other two places?!’

or a a1). The Xn3 cited a Xn>2 where it is apparent that he is not 712 for Twy> WK 931, not like »2ax, and answered
w1 XIn (he omitted 7wy> WK 2on). The X3 asked 1w *X37 1w 7 and answered 1727 97° X2 9»w. This would seem
to answer the question on »aX. The X3 there continues that 91° X7 is not a 7w because this 7 applies not only to
7°11 but also to 0171 and therefore the Xin did not mention it. Here again we are asking a question (on *2X) with a
‘maybe’ (perhaps the Xin did not mention it because it applies elsewhere). However »ax can rightfully maintain that
it is a 7w (regardless that it applies elsewhere). Rather we must say that the X743 is answering for X217, who maintains
that there is no mpn for Mwy> MWK o1 (since it is a MY922w WY); therefore there is a question why did the Xin leave
out only 7 X2 (or 9™ *Xa7 W n1). The &) answers that according to X237, the Xin dd not mention 5 R, since it
applies by 0171 as well. w"»y.
® The mwn there (2,3) stated that N12077 31 TIN2w "y they would blow 791 48 times. The X3 asked (according to the
7"» that they blew for each 7o), they should also mention nawa 2nw 1" where we also blow 48 times. The 813
answered 71 XN, And he is also 19977 27y 7»w. This seems to answer the question. However the X3 continues that
5"y is not a 7w since this follows the view of 777> "1 that they never reached the first time *nanax (by 9%7), so they
did not blow so many times. Again this question is puzzling, why should we say that it follows >"7 and have a question
when we can say it follows the 7127 and there is no question.
7 In the cases here and in 711 the X773 says XR11W WR? in order to defend the 7"» that X11mn Xp1l X329 (see footnote # 3)
and X271 who maintains M?232w 1R ¥ P12 PR (see footnote # 5) respectively; however in 71210 (there is no argument);
we are seemingly not protecting anyone’s position, so why ask a ‘maybe’ question?! See ‘Thinking it over’.
8 See footnote # 7.
9 See 'o1n there "X 71"7 2,71 and the X"wnn, etc. there.
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